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ASSIGNMENT WORK

Class 7™ Subject : ENGLISH

CHAPTER -1:- ATIGER IN THE HOUSE

Q.1 Where did the tiger — cub was discovered?
Q.2 Where did Timothy was hiding?
Q.3 Who brought home Timothy the tiger- cub?
Q.4 How did the tiger- cub drink milk?
Q.5 Who were the companions of Timothy?
Q.6 In which zoo Timothy was transferred?
Q.7 Who named the tiger- cub ‘Timothy’?
Q.8 Who was Mahmoud?
Q.9 What was Timothy’s diet before raw mutton and cod-liver oil?
Q.10 Who was Toto?
Q.11 Grandfather discovered Timothy-

a. in the cotton field

b. in the jungle near Lucknow.

c. in the Terai jungle near Dehra.

d. in the mango orchard.
Q.12 Grandfather named the tiger — cub:-

a. Toto b. Titothy c. Mitothy d. Timothy
Q.13 Toto pulled the young tiger by the-

a. ear b. nose c. tail d. all of these




Q.14 Where did Timothy sleep at night?
a. in the bedroom b. in the drawing room
c. in the kitchen d. in the cook’s quarter
Q.15 “We are going to find Timothy sitting on Mahmoud’s bed and no sign of the
cook except his cloths and shoes.” Who said these words?
a. Author b. Grandfather c. Grandmother d. Mahmaud.
Q.16 Who is the writer of the chapter * A tiger in the House’?

CHAPTER - 2 BEFORE THE EXAMINATION
Q.17 What did Swaminathan realize two weeks before the examinations?
Q.18 Who made the maps of India. Africa and Europe?
Q.19 Who was sleeping in the swing- cradle?
a. Rajam’s little brother b. Mani’s little sister
c. Swami’s little brother d. Rajam’s little sister
Q.20 Why did Mani take a packet of brinjal to the school clerk’s house?
a. to sell the brinjals b. to know about the answers
c. to know about the question papers d. none of these
Q.21 According to the students, who know about the question papers?
a. school’s peon b. school’s principal
c. school’s clerk d. school’s teacher
Q.22 ‘I am much worried about my examination’s. Who said these words to
whom?
a. Swami said to the clerk b. Mani said to the clerk

c. Rajam said to clerk d. Swami said to his father.




POEM - DAFFODILS
Q.23 Who wandered as a cloud?
a. The daffodils b. the poet
c.bothaandb d. none of these
Q.24 Who does float over the valleys and hills?

a. cloud b. daffodils c. the poet
Q.25 Who danced beside the waves?

a. the daffodils b. the poet c. the clouds
Q.26 Where did the poet often lie?

a. on the sand b. on the couch C. in the bed

Q.27 The daffodil are compared with:-
a. clouds b. the waves c.bothaandb
Q.28 Who is the poet of the poem “ Daffodils *?

d. all of these

d. none of these

d. none

d. none of these

Q.29 Pick out the nouns from the following sentences and write their kinds.

I. Employment is needed by every young person.
il. Disregard of nature is bringing destruction.
i1i. Mumbai is the business capital of India.
Iv. A herd of cattle was seen grazing the grass.
v. | was a good dancer in my youth.

Q.30 Identify the sentences and write their types.
a. Alas! He is no more.
b. The sum of three angles of a triangle is 180°.
c. Did you attend the class yesterday?
d. What a lazy girl you are!
e. Always speak the truth.




f. What are you doing?
g. How beautiful picture is this!

Q.31 Fill in the blanks with correct form of verb.

1. Indiais sugar to Pakistan. ( export)
2. My friend _ at Mohan Nagarand | ___ at Patel Nagar. (live)
3. He has already taken lunch. (take)
4. What haveyou  since noon? (do)
5.He  T.V. for last half an hour. (watch)

Q.32 Fill in the blanks with suitable articles. (if necessary)
1. gold of America is very costly.
a. A b. An c. The d. X
2. 1take _ dinner at 9:00 pm.
a. X b. A c. The d. An
3. dinner given by Mrs. Gupta was very delicious.
a. A b. The c. An d. X
4.Heis  expertin computer languages.
a. The b. A c. An d. X
5. Today I got  birthday giftand __ X-mas present.
a. An, A b. An, The c. The, A d. A, An
6.  Hockey is our national game.
a. A b. The c. X d. An
7. Januaryis ____ first month of the year.
a. The, The b. X, The c. A, The d. X, X
8. Heis B.A while his brother is M.A.

a. An, An b. A, An c. X, An d. X, X




SCIENCE ASSIGNMENT CLASS-7

Q.1 Why do organism take food?

Q.2 How would you test the presence of starch in leaves?

Q.3 Give a brief description of the process of synthesis of food in green plants.

Q.4 What is symbiosis?

Q.5 What is photosynthesis?

Q.6 State similarities and difference between the laboratory thermometer and
the clinical thermometer.

Q.7 Give two example each of conductors and insulators of heat.

Q.8 Define convection?

Q.9 What is radiation?

Q.10 Explain with diagrams how are convection currents set up in nature ( land
and sea breeze).

Q.11 Explain the conduction of heat in solid with an activity.

Q.12 How is heat transmitted in a liquid medium? Explain with an activity.

Q.13 Bird puff up their feathers in winters Explain.

Q.14 We wear loose light coloured clothes in summer Why.

Q.15 We wear dark coloured clothes in winter Explain.

Q.16 Mud houses with thatched roofs are cool in summer explain.

Q.17 Mercury is used in thermometer why?




ASSIGNMENT -S.S.T CLASS-7
Q.1 Who used to collect manuscripts in the past?
a. monasteries b. temple C. ruler d. none of these

Q.2 Who is cartographer?

a. A person who make painting. b. A person who make maps.
c. A person who make sketch d. none of these
Q.3 Who was A L -Jdrisi?
a. cartographer b. choreographer
c. bothaandb d. none of these
Q.4 When was the last battle of terrain fought?
a. 1192 b. 1191 c. 1193 d. 1190
Q.5 Who was Dantidurga?
a. Rashtrakuta chief b. Chola chief
c. Chalukeyas chief d. none of these

Q.6 Name the book written by A | — Baruni

Q.7 What were known as ur?

Q.8 What was the tripartite struggle?

Q.9 What was the role of temples during the chola kingdom?
Q.10 How did the position of the peasants change?

Q.11 What was Jati based on?

Q.12 When did the Mughal empire decline?

Q.13 Describe the king who were involved in warfare of wealth.
Q.14 Who build Gangalkoda cholapuram.

Q.15 What was the role of temple during the chole Kingdom.

Q.16 Book read and write words used to describe India.




REASONING ASSIGNMENT

CLASS 7
CHAPIER- 1 Series completion and inserting

Choose the correct option from the given ones that will complete the series.

QL. 1,6,15,7, 45,66, 91.

a. 25 b. 26 C. 27
Q.2 2,59,19,37,7.

a. 73 b. 75 C. 76
Q.3 4,8, 28, 80, 244, ? .

a. 278 b. 428 C. 628
Q.4 10000, 11000, 9900, 10890, 9801, ? .

a. 10241 b. 10423 c. 10781
Q.5 0, 6, 24, 60, 120, 210, ?.

a. 240 b. 290 c. 336

Find out the wrong term.
Q.6 196, 169, 144, 121, 101.

a. 101 b. 121 c. 169
Q.7 3,10, 27, 4, 16, 64, 5, 25, 125.

a. 3 b.4 c. 169
Q.8 Find the missing number.

a. 18

d. 12

27 27
b9 4@13 8@72 13@65
c. 15

3 3

d. 28

d. 78

d. 728

d. 10929

d. 504

d. 196

d. 10

42

7
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CHAPTER -2

a. 14
b. 13
c. 15
d. 18

a. 42
b. 18
c. 48
d. 56

ANALOGY AND CLASSIFICATION

Select the related word/ letters/ number from the given alternatives.

Q.1 Newspaper : Press : : cloth : ?

Q.2

Q.3

Q.4

a. tailor b. textile
21:3::574:7

a. 23 b. 82
18:30::36:?

a. 54 b. 62
3:243::5:7

a. 425 b. 465

Q520:11::102:7

a. 49 b. 52

Q6AG: IO EK:?

a. LR b. MS

c. fibre

c. 97

c.64

c. 546

c. 61

c. PV

d. mill

d. 113

d. 66

d. 3125

d. 98

d. SY




Q7MAD:JXA::RUN:?
a. ORK bh.0SQ

Find odd one out.
Q.8 a. Parrot b. Bat c. Crow
Q9 a 13 b. 17 c. 23
Q.10 a. BCDE b. PORS c. WXYZ

c.PRJ

d. Sparrow
d. 63
d. STUW

d.UXQ

e.71
e. GHIJ




MATHS - ASSIGNMENT CHAPTER- 1:- INTEGER

Q.1 The maximum temperature of a city on a particular day was 18°C , while
the minimum temperature recorded on the same day was 3°C. What is the
difference in two temperature?

Q.2 Sum of two integers is -30. If one of them is 15 . Find the other integer.

Q.3 Inaquiz, positive marks are given for correct answer and negative marks
are given for incorrect answer. If Mala’s score in five successive rounds
were 50, -25, 10, 15, -10. What was her total score at the end.

Q.4 If a= 25, b= 3, which of the following is true?

I.a-b =b-a ii.a-(-b) = atb

Q.5 A submarine was 3500m below sea level. If it ascends 1200m, What is its new
position?

Q.6 An electrical company earns a profit of Rs 80 on sale of every colour TV and
loss of Rs60 on every refrigerator. If the company sells 5000 colour TV and
4000 refrigerators in a month. What is its profit or loss?

Q.7 A plane is frying at the height of 5000m above the sea level. At a particular
point , it is exactly above a submarine floating 1200m below the sea level.
What is the vertical distance between them.

Q.8 Verify the following:-

Q)18 x[7+(-3)]=(18x7)+[18x (-3)]
b) (-21) x [(-4) + (-6) 1= [(-2) x (-4) ] + [ (-21) x (-6) ]

Q.9 The temperature at 12 noon was 10°C above zero. If it decreases at the rate
of 2°C per hour until midnight, at what time would the temperature be

8°C below zero? What would be the temperature at mid night?




Q.10 Verify thata =+ (b + ¢) # (a + b) + (a + c) per each of the following values of

a. b andc.

NTSE BASED QUESTIONS

Q.1 Which of the following is a correct statement?

a.—5 > —4 b.-5< —4
c. —5, —4 are non comparable d-5=—4
Q.2 The additive inverse of —6 is :-
a. 6 b.0 c. =5 d. —7

Q.3 The sum of two integers is 14. If one of them is —8, then the other is:-

a. 22 b. -22 Cc.6 d. none of these
Q.4 On subtracting —13 from —8, we get :-

a. —21 b. 21 c.5 d. =5
Q.5 The value of 385 x 99 —(—385) is:-
a. 63698 b. 38576 c. 38500 d. 45600
Q.6 (27) x (16) + (27) x (=14) =2
a. —810 b. 810 C. —94 d. 54
Q.7 What must be subtracted from —3 to get —9?
a. —6 b. 12 Cc.6 d. —12
Q.8 The sum of two integers is 93. If one of them is —59, then the other one is:-
a. 34 b. —34 c. 152 d. —-15

Q.9 Which one of the following pair of integers does not give the sum —7.
a. —b, =2 b. —13,6 c.8,—15 d.—3,4




Q.10 The letter N represents which number?

—t—+———t—+—>

N 60 63 66
a. 58 b. 59 c.61 d. 62
Q.11 Predecessor of successor of —21 is:-
a. —20 b. —19 c. —22 d. —21

Q.12 A gardener plans to plant 630 trees in 21 rows each containing the same

number of trees , then how many trees will there be in each row.

a. 300 b. 30 c.21 d.3
Q.13 If a + (—35) = —5, then the value of a is:-
a.—7 b.7 c. 90 d. 175

Q.14 Temperature of a hill station at a particular time is + 17°C . It falls down by
3°C every hour. What will be the temperature after 8 hours.
a. 41°C b. —7°C c. 14°C d. 24°C

Q.15 An integer when divided by —5 gives 45. The integer is:-

a.-9 b. 50 C. 225 d. —225

Q.16 The difference between the smallest positive integer and the greatest
negative integer is:-
a. 2 b. =2 c.1 d -1

Q.17 An integer multiplied by -7 gives 119. Find the integer:-
a. 17 b. —833 c. —17 d. 833

Q.18 Subtract the sum of -570 and -130 from the sum of -1500 and 1200.
a. 400 b. —400 c. —740 d. —140

Q.19 What should be subtracted from the product of —13 and —7 to get —120.
a. 211 b. =29 c. 110 d. 87




Q.20 The product of three integers is —225. If two of the integers are —17 and
—5, then the third integer will be:-
a. —85 b. 1 c.3 d. -3




ASSIGNMENT -2 CLASS - 7™
CHAPTER -2 FRACTION.

Q.1 What number should be added to % to get %

Q.2 A piece of wire is of length 8im. It is cut into two pieces. The length of one
piece is 4%m. What is the length of the other piece.

Q.3 The sides of a triangle are %cm, %cm and %cm. Find its perimeter.

Q.4 Find:- i.%ofarupee ii.zofaday

iii.%ofakg iv.gofan hour.

Q.5 Vineeta reads a book for 1% hours everyday. She reads the entire book in
10days. How many hours in all were taken by her to read the book?

Q.6 Shikha’s age is % of the age of her eldest brother. If her brother’s age is 35

years, then how old is Sikha?

Q.7 If the cost of 17m of cloth is Rs 77% . Find its cost per metre.

Q.8 A rectangular sheet of paper is 12%cm long and 10§cm wide. Find its

perimeter.
Q.9 Which is greater.

. 2 3 3 5 .. 1 6 2 3
I;sz OREOfg “EOf;OREOf;
Q.10 The cost of a book is Rs25.75. How many books can be purchased for

Rs24727
NTSE based question.

4 7 8 . .
Q.1 The sum of 3; + Zﬁ + 4E IS:-




68 331 27 325
a. — b. — C.— d. —

15 30 10 30
Q.2 The value of 63 X 7 —-28 X 89 + 76.4 — 37.66 is:-
a. 2012.26 b. 2014.26 c. —2012.26 d. —2014.26

Q.3 A farmer has 192 animals. 1—76 of animals are cattle, % of cattle are dairy cows.

How many dairy cows he has.
a. 128 b. 84 c. 56 d. 112
Q.4 If X% of 24 = 64, then the value of x is :-

a. 372 b. 1332 C. 266- d. 66>
2 3 3 3
Q.5 The cost of 28 days of the same kind is Rs 3462.20, then the cost of each toy
IS:-
a. Rs123 b. Rs123.65 c. Rs124.65 d. Rs122.65
Q.6 Which of the following statements is true?
= =2 b= <= C.—=>= d. none of
16 24 16 24 16 24
these
Q.7 By what number should 1 be divided to get > ?
a. 22 b. 12 c.= d. 23
3 3 9 4

Q.8 The perimeter of a square is 43%cm. Find the length of each side of the
square.

a. 172%cm b. 10=2cm c. 64%cm d. 10=cm
3 24 2 24

Q.9 Reciprocal ofz X g IS:-

a. — X

OSIIRN |

4 3
b. - x= C.
5 7

NNERS;
vt | W
X
OSIIRN |
o
NS
X
|




Q.10 Find the value of 9% —4% — 3%
a. 8~ b. 4— c. 12 d. 1=
30 10 30 10
Q.11 By selling tickets for Rs 52% each , the money collected was Rs 5512%. Find
the number of ticket sold.

a. 105 b. 289 c. 106 d. 546

Q.12 In the given number line, point M represents which of the following
fractional number?

L M N
2 6 2 7
a. - b. - C.- d. —
8 5 3 10

Q.13 From a wire 10%meters long. Samir cut off 5 pieces of 1% meter each. How

much length of the wire was left.

a. 4im b. 21%m C. 6% m d. Sim
Q.14 A book consists of 216 pages. During last week Vikas read % of the book.
How many pages did he read.

a. 162 b. 160 c. 161 d. 262
Q.15 Reenu spends % of her income on household expanses. Her monthly income

Is Rs 15000. How much does she save every month.
a. 3000 b. 4000 c. 5000 d. 2000
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Class — 7™ Subject : Hindi
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5. “IRTATT Bidar &e fordl 157

6. IRTHIAT HiAdl @ BHfd BT FAT A &7

7. "IRTHTIT Biddl H ARG B G20 B4l A1? quid ST |
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P |

o. GAFAMGH Ud Bl FIGaRT & oy &e 3R B—H1 REDBR Aot or?

10. BCid, Alel R ST & IR H 307 TR & ol | SIHDHRI YT DI |

11. AT DI FERIAT BRS YT §Y MG BT AT DI |

12. ‘B BT US' HIAAT BT UgHR TG DIFY |

13. ‘@RT R ‘Bfcyd’ weq &I 1 I |

14, ST @1 N BidaT fde gaRT Id 77

15. W& [ANT Al TaRT e STl HeHl | 86 o1 A fferd) 87

16. AGT AN AIeM AT <o uga wfcrdt falag |
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Multiple Choice Questions:-

QL. How many teams participated in IPL - 20147
a)l0 b)ll ¢9 d)8

Q2. Who is the owner of Team - Delhi Daredevils?
a) Shahrukh Khan b) GMR Group ¢) Preity Zinta d) India Cements

Q3. Who was the captain of Team — Sunrisers Hyderabad?
a) Shane Watson b) Rohit Sharma ¢) Virat Kohli d) Shikhar Dhawan

Q4. Which team won IPL - 20147
a) Kings XI Punjab  b) Chennai Superkings ¢) Kolkata Knightriders d) Rajasthan Royals

Q5. Who was the highest run scorer in IPL - 2014?
a) Robin Uthappa b) Glenn Maxwell  ¢) Dwayne Smith d) Chris Gayle

Q6. Who was the highest wicket taker in IPL - 20147
a) Bhuvneshwar Kumar b) Mohit Sharma ¢) Sunil Narine d) Lasith Malinga

Q7. Which colour cap is given to the highest run scorer in IPL?
a) Red b) Green ¢) Purple d) Orange

Q8. Who won the most valuable player of IPL — 20147
a) Glenn Maxwell b) Dwayne Smith ¢) Robin Uthappa d) Sunil Narine

Q9. Who won the Pepsi emerging player Award at IPL - 2014?
a) Mandeep Singh ~ b) Naman Vohra c¢) Akshar Patel d) Sanju Samson

Q10. Who bowled the fastest ball at IPL — 2014 @ 152.44 km/hr?
a) Morne Morkel b) Lasith Malinga ¢) Umesh Yadav d) Dale Steyn

Q11. Who hit the maximum number of sixes in IPL — 2014 (36 in all)?
a) Glenn Maxwell b) Dwayne Smith ¢) Yuvraj Singh d) David Warner

Q12. Who hit the fastest century of IPL - 20147
a) Wriddhiman Saha b) Virender Sechwag c¢) Glenn Maxwell d) Lendl Simmons

Q13. Where was IPL — 2014 organized?
a) UAE and India b) South Africa and India ¢) India d) UAE

Q14. Who made the highest individual score at IPL - 2014?
a) Wriddhiman Saha b) David Warner ¢) Glenn Maxwell d) Virender Schwag



Fill in the blanks:-

1) The FIFA World Cup 2014 was held in

2) won the FIFA World Cup 2014,

3) won the Golden Ball Award at FIFA World Cup 2014.
4) won the Golden Boot Award at FIFA World Cup 2014.
S) was the Runners Up at FIFA World Cup 2014.

Match the Following:-

1) Home Minister 1) Dr.Harsh Vardhan

2) External Affairs Minister 2) Mr.Arun Jaitley

3) Finance Minister 3) Mr.D.V.Sadananda Gowda
4) Human Resource Development Minister 4) Mr.Ashok Gajapathi Raju
5) Health and Family Welfare Minister 5) Smt.Menaka Gandhi

6) Railway Minister 6) Smt.Sushma Swaraj

7) Food Processing Industries Minister ' 7) Smt.Smriti Irani

8) Civil Aviation Minister 8) Mr.Kalraj Mishra

9) Micro,Small and Medium Ent Minister 9) Smt.Harsimrat Kaur Badal

10) Women and Child Development Minister 10) Mr.Rajnath Singh
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